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PART—I / <i9—I
CHILD DEVELOPMENT AND PEDAGOGY / iy o @ Rrpetaien

Directions : Answer the following questions
by selecting the correct option.

1. Thinking is a/an

(A) cognitive process
(B) psychomotor process
(C) instinctive behaviour

(D) None of the above

According to Piaget, stage is
related to abstract and logical
thinking.

(A) sensory-motor
(B) pre-operational
(C) formal operational

(D) None of the above

Gifted students are

(A) convergent thinker
(B) divergent thinker
(C) extrovert

(D) None of the above
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it « 10F Tex b @ a2
Teq nis |

1. o7 291 «3lo
(A) STLETS i
(B) SCTPIEITeT 2Ifema

(C) zfegere =D
(D) T°[Cad (FFD2

2. PRicem o ___ %9 [RY$ g2 Jfeorire
oRcea A Tl |

(A) I € AL
(B) -Gl
(C) FRTeIzs AfeToR

(D) TR (@DR

3. e Ierrem wa/wae =

(A) SR/ @HmieyR b i
(B) FmPIR oBMe Ife

(C) dfefd
(D) TR (@DR



4. The feeling of shame and pride 4. ey R S RESIN AP 2 (P

develops in stage. ®I?

(A) infancy (A) T

(B) childhood (B) QT
(C) adolescence (C) CFCIFIE

(D) None of the above (D) Tolcad @03 T

5. Human development is
p 5. WFRERER R 29

(A) quantitative

(A) RIS
(B) qualitative
B) @999
(C) Both (A) and (B) (B)
C) (A) 9k (B) YbI2
(D) None of the above (©) (&) &= (B)
(D) Torcad @be o
6. Personality is the outcome of
(A) only heredity 6. TreTal 2
(B) upbringing and education (A) SYIG RH9MMF QERIE
(C) interaction between heredity (B) T[T 4<% PRI e
and environment (C) Ixeife @R AR AR
(D) None of the above &= ifgens
(D) T @FMbe T

7. According to Vygotsky, child
development is

7. SRAGER WCo Freg [ ==
(A) ANTE R R T
(B) TerrreifEs “eefcs f@ae =

(A) a product of social interaction
(B) a product of formal interaction

(C) a product of assimilation and

accommodation (C) I © TS T
(D) None of the above (D) Soiad @FiE =
8. g;rst Intelligence Test was developed 8. 9% ﬂﬁh o YT Tildel ol
(A) Charles Edward Spearman (A) T GOSATS T
(B) Alfred Binet (B) WFEFE e
(C) Robert Sternberg (C) =15 SBrefaref
(D) None of them (D) G (FO3 T
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10.

11.

12.

13.

A student’s chronological age is
12 years and mental age is 14 years.
His/Her IQ will be

(A) 11666
(B) 11566
(C) 120-83
(D) None of the above

Dyslexia means

(A) mental disorder

(B) reading disorder

(C) mathematical disorder

(D) None of the above

Classical conditioning theory was
advocated by

(A) Skinner
(B) Watson
(C) Pavlov
(D) None of them

The students with learning disability
(A) cannot learn anything

(B) struggle with some aspect of
learning

(C) are very active but have a low I1Q

(D) None of the above

In the process of thinking

(A) imagination is involved

(B) images are involved

(C) Both (A) and (B) are involved
(D) None of the above
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10.

11.

12.

13.

G0 F@/RAF LRI R 29 12 =7
G3R EIPTF 7 29 14 =9 | OF [Q 2[

(A) 11666
(B) 11566
(C) 120-83
(D) T°[Cad (FFb2

TEACERR FETCe @RR

(A) TR feqeerer

(B) “omtare fyeerel

(C) SrIE- TR fyeeTe]
(D) TR @2

Classical conditioning ¢ b B
PC

NIREZIE]

(B) A

(C) “IresTe

(D) 9T (T2 7

I SPFTORS B@/RIaN]

(A) = g Peee = =

(B) P g e forcn w@en ot e
(C) 4@ A 27 3% O 1Q T =
(D) Tolcaw (FRIGE

fom aifrm

(A) TE SWYS TCACR

(B) SIS a1 T35 WIS AR
(C) (A) 93 (B) TR WIS TR
(D) TR @2



14.

15.

16.

In order to maintain gender equality
in the classroom, a teacher should

(A) provide the same opportunity to
both the boys and girls

(B) discourage the girls to take part
in cocurricular activities

(C) provide analytical work to the
girls

(D) None of the above

Individual difference means

(A) differences in the physique of
two individuals

(B) any two individuals are equal in
respect of physique and mental
ability

(C) each individual is different from
the other in respect to physical
structure, mental ability and
emotional state

(D) None of the above

The laws of learning are given by
(A) Skinner

(B) Pavlov

(C) Thorndike

(D) None of them
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14. NFCs - ISR AF & GFS

15.
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(B) (NAHE  TRANEFENF  FHAREACS

ezl foreeTIfEe
(C) NCHaa RETRET e (el

(D) T°[Cad (T2

FiE-Frog W0 @RI
(A) 7 TR MRS MG ¢ ~A124

(B) RIS oo @R AP For W
(AF @ FICA Y& T I

(C) =fels S =S 9107, TP o]
GR ACFeT TRER WE (A
N (A fom

(D) TR (T2

16. e S[@ra e

(A) Zam
(B) “Imeere
(C) erfuizs

(D) GMF (FT2 o
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17. If the students of disadvantaged 17. I SEPE YR RQ /R Frel 3T

group are taught along with normal Blq /@@'@@ ACKH 2T 2, OCF SICF 6T
students, then it will be called £

(A) special education A) e P

(B) inclusive education (B) W\J?WQMW

(C) integrated education (C) T=CTa I

(D) None of the above (D) T[Fd @I |

18. Many bad habits of the students can 18. m/m@zw RF-IEPT W Pq A

be removed by AqE Q[

(A) positive conditioning (A) LS S

(B) classical conditioning (B) 2D Seaéa

(C) negative conditioning (C) AT S|

(D) None of the above (D) THEE (@FEHE o
19. Pavlov was a 19. TSeTS REee 46

(A) physiologist (A) ==Y,

(B) psychologist (B) e,

(C) neurologist (@) W

(D) None of the above (D) a1 @Fbe T

II1/22-A 6



20. Amount of learning mainly depends

21.

22.

23.

upon

(A) meaningfulness of the learning
materials

(B) motivation of the students

(C) repetition of the learning
materials

(D) None of the above

The self-actualization theory of

motivation was advocated by

(A) Maslow

(B) Kohlberg

(C) Watson

(D) None of them

For emotional development of a
child, which of the following is
necessary to maintain in the
classroom?

(A) Democratic environment
(B) Controlled environment
(C) Authoritarian environment

(D) None of the above

A teacher can develop social
responsibility among the students

by

(A) telling them  about great
personalities
(B) following irregular and

indisciplined life

(C) behaving ideally in front of the
students

(D) None of the above
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20.

21.

22.

23.

Frgcers “fsne Jore g e
(A) e ARER wfpefer Teig
(B) =I@/=@IH (2R Lo
(C) e E ofrfes To
(D) TR (P2 T

(@R ‘self-actualization’ T T@Re
P

(A) ST

(B) el

(C) i

(D) GMF (FT2 7T

GF PFreg oacwfes [Reer w0 @3
NS e @G ISR A 2 2

(A) arereifEs “Ifac

(B) ferfge “ifac

(C) G TRTOIER I
(D) T73d @3 T

OFee FEFE TQ/RAE W TN
IRE Q1Y Gl9Nce “cg

(A) OIS W= BSR4 e

(B) wifFEe @R fee &<e SRpEe
BY&s

(C) TE/RATE AN SW*fareeIcd

IR ECE|
(D) TR (@DR
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24. Thought, attention and ____ are the

25.

26.

components of cognition.

(A) feeling

(B) perception

(C) interest

(D) None of the above

Achievement motives indicate

(A) the willingness to accept
success and failure equally

(B) the tendency to
challenging task

persist at

(C) the tendency to avoid failure

(D) None of the above

The full form of TAT is

(A) Thematic Apperception Test

(B) Thematic Appreciation Test

(C) Thematic Affirmation Test

(D) None of the above
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24. o=, IOEE @R
T |

(A) SIS
(B) 2lorsel
(C) =rerz

(D) TR (DR

25. “RWPCR (2¥ IE0e C@R/R

(A) Tl @R HLOCF ST 2120

IR TR

(B) zferfaome sl wfgs (ool

RIRIERAERI)]

(C) LT 72 I 2[R

(D) o @FMbe o

26. TAT-7 7= olfb ==
(A) Thematic Apperception Test
(B) Thematic Appreciation Test

(C) Thematic Affirmation Test

(D) TR (@DR
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27. Self-awareness, self-regulation, 27. SEPICHeTe, SeTferTEe, Txffel,
empathy, social skill and motivation ANIEF 7Fe] G2 (AT 267

are the components of
(A) Ffaw Tom
(B) Ifevrer Tomre
(C) acFifes e Tofmm
(D) Toad (DR T

(A) intelligence
(B) personality
(C) emotional intelligence

(D) None of the above

28. & 1995 ¢ ‘emotional

28. Who made the term ‘emotional intelligence’ A BF G2 P ?
intelligence’ popular in 1995?
(A) e (erey

(B) fiom ceicenfe
(C) TnfICEs (areTse

(D) TR (FT3

(A) Michael Beldoch
(B) Peter Salovey
(C) Daniel Goleman

(D) None of them

29. ‘oNefafes’ *=it Goice AT o

29. The word ‘personality’ has been

derived from the Greek word T

(A) personal (A) I

(B) persona (B) A

(C) persoba (C) ==

(D) None of the above (D) TR @Fbe T

30. Mentally retarded children can be 30. Ao Provm e F1 @es

classified on the basis of e fefece |

(A) intelligence test (A) = SrerFIE

(B) aptitude test (B) I S
(C) projective test (€) W"TWW@%@
(D) None of the above (D) Toicad @02 T

II1/22-A o) [ PTO



PART—II : Language—I
ENGLISH

Directions Read the passage given
below and answer the questions
(Q. Nos. 31 to 35) that follow by selecting
the correct options.

In 776 B.C., the first Olympic Games were
held at the foot of Mount Olympus to
honour the Greeks’ Chief God, Zeus. The
warm climate for outdoor activities, the
need for preparedness in war, and their

Greeks
Only the elite and
military could participate at first, but later

lifestyle caused the to create

competitive sports.

the games were open to all free Greek
males who had no criminal record. The
Greeks emphasized physical fitness and
strength in their education of youth.
Therefore, contests in running, jumping,
discus and javelin throwing, boxing and
horse and chariot racing were held in
individual cities, and the winners competed
every four years at Mount Olympus.
Winners were greatly honoured by having
olive wreaths placed on their heads and
having poems sung about their deeds.
Originally these contests were held as
games of friendship, and any wars in
progress were halted to allow the games to
take place. They also helped to strengthen
bonds among competitors and the different

cities represented.

The Greeks attached so much importance
to the games that they calculated time in
four-year cycles called ‘Olympiads’, dating
from 776 B.C. The contests coincided with
religious festivities and constituted an

II1/22-A

all-out effort on the part of the participants
to please the Gods. Any who disobeyed the
rules were dismissed and seriously
punished. These athletes brought shame
not only to themselves, but also to the

cities they represented.

31. Which of the following is not true?

(A) Winners placed olive wreaths on
their own heads.

(B) The games were held in Greece
every four years.

(C) Battles were interrupted to
participate in the games.

(D) Poems glorified the winners in

song.

32. The word
meaning to

‘deeds’ is closest in

(A) accomplishments

(B) ancestors

(C) documents

(D) property



33.

34.

35.

What is the main
passage?

idea of this

(A) Physical fitness was an integral
part of the lives of the ancient
Greeks.

(B) The Greeks severely punished
those who did not participate in
physical fitness programs.

(C) The Greeks had
encouraged everyone
participate in the games.

always
to

(D) The Greeks had the games

coincide with religious festivities
so that they could go back to
war when the games were over.

The word ‘halted’ means most nearly
the same as

(A) encouraged
(B) started
(C) curtailed

(D) fixed

Approximately how many years ago
did these games originate?

(A) 800 years

(B) 1200 years

(C) 2300 years

(D) 2800 years

II1/22-A
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Directions :

In Question Nos. 36 to 38,

each sentence has four underlined words
or phrases. The four underlined parts of
the sentence are marked as (4), (B), (C)
and (D). Identify the one underlined word
or phrase that must be changed in order
for the sentence to be correct.

36.

37.

38.

While searching for the wreckage

(A) (B)
of a unidentified aircraft,
(C)
the Coast Guard encountered
several squalls at sea.
(D)
A) A (B) B
€ C (D) D

Louis Braille designed a form of

communication enabling people
(4)

to convey and preserve their

(B)
thoughts to incorporate a series
(C)

of dots which were read by the
(D)

fingertips.

(A) A (B) B

€ C (D) D

Because of the severe snowstorm
(A)
and the road blocks, the air force
(B)
dropped food and medical supplies
(C)

close the city.

(D)
A) A (B) B

(C) C (D) D

[ PTO



Directions : Question Nos. 39 to 43 are
incomplete sentences. Choose the correct
option that best completes the sentence.

39. Shyam did not do well in the class

because

(A) he studied bad

(B) he was not good studywise
(C) he was a badly student

(D) he failed to study properly

40. People all over the world are starving

(A) greater in number
(B) in a more numbers
(C) more numerously

(D) in greater numbers

41. Our flight to Kolkata took on

schedule.

(A) in (B) of

(C) off (D) at

42. On his accession the throne he
introduced several measures of

reform.

(A) on (B) at

(C) to (D) into

43. ‘A storm in a teacup’ means

(A) unexpected event

(B) a danger signal

(C) much excitement

something trivial

over

(D) a great noise

II1/22-A
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44. The word
meaning to

‘nnate’ is closest in

(A) unique (B) important

(C) inborn (D) essential
45. The antonym of the word ‘rugal’ is
(A) gaudy
(B) generous
(C) extravagant
(D) charitable
Directions Read the following poem

carefully and answer the questions (Q. Nos.
46 to 50) by choosing the correct
alternative given below.

Beyond the East the Sunrise; beyond the
West the Seaq;
And East and West the Wander-Thirst
that will not let me be,;
It works in me like madness, dear to
bid me
say good-bye;
For the seas call, and the stars call, and oh!
—the call of the sky;

I know not where the white road runs,
nor what the blue hills are,
But a man can have the sun for a friend
and for his guide a star;
And there’s no end of voyaging when
once the voice is heard.
For the river’s call, and the road calls,
and oh! the call of the bird!

46. In the poem, road, river and bird

symbolize
(A)
(B)
(©)
(D)

poet’s destination
mobility
desire for making money

endless journey



47. The repetition of the word ‘oh’
denotes
(A) the sorrow of the poet for his

(B)
(C)

(D)

48.
(A)
(B)
(C)

(D)

49,
(A)
(B)
(€)

(D)

50.
(A)
(B)
(€)
(D)
II1/22-A

inability to set off on a new
journey

the use of an interjection
the intensity of the poet’s feeling

None of the above

‘Wander-Thirst” means here

longing for travel
longing for happiness
longing for food

desire for making money

‘White road’ suggests

road on the snow of a hill
cemented road
dusty road

white-coloured road

‘East and West’ means to the poet

Eastern and

civilizations

Western

the East and West land
two limits of this planet

None of the above

13

51.

52.

53.

54.

The word ‘magnanimity’ will
stressed on

(A) first syllable
(B) fourth syllable
(C) third syllable
(D) second syllable

The word
stressed on

‘responsibility’ will

(A) first syllable

(B) second syllable

(C) third syllable

(D) fourth syllable

The word
composed of

‘computerization’

(A) one morpheme
(B) two morphemes
(C) three morphemes

(D) four morphemes

“He hated such films”
segmented as

can

(A) He + hated + such + films

be

be

is

be

(B) He + hate + ed + such + films

(C) He + hate + ed + such + film + s

(D) He + hated + such + film + s

[ PTO



55. The letter p in the English word 58. Learners acquire a language by
‘spy’ represents

(A) using the language in a natural
(A) a voiced bilabial plosive interactive environment

(B) a voiceless bilabial plosive (B) analyzing the structure of the
language

(C) a voiced alveolar plosive (C) studying the literature of the

language
(D) a voiceless velar plosive

(D) learning about the culture of the
speakers of that language

56. Find out the word opposite in
meaning ‘rural’.

59. Teaching and learning is a journey
from

(A) Urban

(A) concrete to abstract
(B) Semiurban
(B) simple to complex
(C) City
(C) known to unknown

(D) Pastoral
(D) All of the above

57. The science dealing with the study

. . 60. Study of the meaning of words and
of animals is

phrases is known as

(A) biology

(A) syntax
(B) zoology (B) semantics
(C) physiology (C) morphology
(D) meteorology (D) linguistics

II1/22-A 14
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63. TTER e TR

64.

65.

66.

(A) N2 2F

(B) =22 A

(C) Twe =@M
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75. SEl (rdI9 g2 e (‘9 Fer) | 79, SRAey e et =1
@ GRS 77 2

(A) TG A
(A) STTVRTER 2GR
(B) <7 SpIICa
(B) Fresnial “fgem O i 1 b ot o <o
(C) Ffeam «fawm SR
(D) TocaR @Ifoe (D) T @IS -

80. ‘4’ *ad A= qroeF =137 =41
76. ‘IR QUG A6l 20

(A) w2
(A) ASCIRE ] e
(B) I ] ©)
(C) ST e (D) Tlcaa (FICbe =/

(D) 7R (T3
81. “‘f7w (NI T FCAl

@ T2 G e 17

77. ‘SR PN ACE G 2 S -

(A) =l o () T

(B) M0 SCRIATEIA (B) FHRT

(C) T srewra (C) wfEFel e

(D) 07| (FTB T (D) T4 DR 7/
78. pa weBR T @S wE 2 82. T, ¢ ¢ W = IRH—APRFFR 2

(A) STIET (A) SREATSR TP

(B) STTET (B) forey s

(C) ST (C) =7 P

(D) TR @ICbe . (D) TR @ICbe =

II1/22-A 17 [ PTO



83. T > FII—3 IS FHiTolfgs

RIS
(A) oS

(B) T
(C) CoTplerEie
(D) ToIFa FIenos

84. W e ‘@M—w b 2e

(A) ¥ ==
(B) &4 *[
(C) I *=n
(D) TR (@ICbe

85. (X ORI IR
(A) T=12 24

(B) o132«
(C) IS 8 (ISl “RF7[ AR AT

(D) TR @ICIDE T

~

86. 3I%El, f3f¥, Tfea—emn feafb 2=

(A) TO-SROR SRR

(B) bR SReR SRS
(C) H-SITer e
(D) TR (PICIbE

II1/22-A
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87.

88.

89.

90.

Sfexrfe (@ TSRE 24 (IS5 CTib 281
(A) EEl Torem

(B) Il Torer
(C) =5 Torem
(D) Tolcaa (ICANLE 77

M T ) 131 £ B T B s s S = [ (1
o[ 9¢5 |7 S

A) PF

(B) M Ao

(C) 7T =

(D) 7@ @Iebe w7

PrFFe A4 (IS 29
(A) FCOR NI

(B) =@c 2fs SIceTaml
(C) IR
(D) T @ICDE T

(A) =

(B) =1«

(C) g
(D) TG (AR T



Candidates have to answer Question
Nos. 91 to 150 either from Part—IV
(Mathematics and Science) or from
Part—V (Social Studies).

AIFFIAHE 2% R4 91 (AT 150 T&g FACS 2
2y oa—IV (9f9® @R K@) (AF 9211 So—V
(TreTRW) (T |

PART—IV / <i5i—IV
MATHEMATICS AND SCIENCE / ffe ¢ faem

Directions : Answer the following questions
by selecting the correct option.

91. The sum of all natural numbers
from 1 to 100 is

(A) 5050
(B) 5040
(C) 4050
(D) None of the above

92. The value of 1—# is

) -
X

B) x+1
(€) x
(D) None of the above

93. If 25 men can do a work in 24 days,
how many men will finish it in
20 days?

(A) 28
(B) 30
(C) 35
(D) None of the above

it : S0F Teg v wc o opsfer
Teq 118 |

91.

92.

93.

1 (ACF 100 1% 79 FeIRE ABCETH
ITFE 24

(A) 5050
(B) 5040
(C) 4050
(D) T°[Cad (T2

1
1- -~ T TR
-
1_7
X

")

B) x+1
(C) x
(D) TR (DR

M 25 & @NF 24 W G S F=70
F(F, @ PG @EF @ FEH 20 W
R FCE 2

(A) 28

(B) 30

(C) 35

(D) T°[cad (FFD2

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N
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94,

In an election, a candidate gets 46%
of the votes cast and loses by 15208
votes to the elected candidate. Total
votes cast at the election were

94, b FHBE @FIC 22 2me (Sod 46%

ol feifoe andfie Fice 15208 (SI0H
]Ifere 207 | @ fIbcT 2wa (Srha 7Rl
foer

(A) 190000 (A) 190000
(B) 190100 (B) 190100
(C) 180000 (©) 180000
(D) None of the above (D) T oo o
95. A swimmer covers a distance 20 km 95. OIS WOF (HC9T ﬁ&TM 20 B,
a}zclgaig§t the cu;rent and ISfO‘ km iE R e S 30 R, wfoaw
the direction of current. In eac 7@ | T #f% oW O 5 T6 TR e,
case he takes 5 hours, then the o -
speed of the current is e NS
(A) 1 km/hr () 1 5/
(B) 2 km/hr (B) 2 f.:&./9%5
(C) 3 km/hr (C) 3 fF.f. /%
(D) None of the above (D) TER (@02
96. J64)3(125 2 equals 96. 3(64) (1252 -« W =@
1 A o1
A 3500 A 3200
1 1
- B ———
®) Te00 B) 600
1 1
S C R
(©) 6400 © 6400
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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97. A man sold two articles for ¥ a each.

98.

99,

On one he gains b% and on the
other he losses b%, then his
percentage of loss is

(A) 0

2
B 2

2
b
C —
© (53]
(D) None of the above

If the difference between the simple
interest and compound interest on
the same principal at 4% per annum
for 2 years is ¥ 8, then the principal
is (compound interest compounded
annually)

(A) ¥ 4,500
(B) ¥ 5,000
(C) ¥ 5,100

(D) None of the above

The minute hand of a watch is
21 cm long. What area will be
covered by it in 20 minutes?

(A) 462 cm?
(B) 450 cm?
(C) 456 cm?

(D) None of the above

97. 4% It 7o wwE Aol a treE i

98.

99.

IE | IO G b% TS G RIS
b% S 7CF, OF o F6 24

(A) 0

b2
(B) 10

b 2
© ()
(D) T°[Cad (FFID2

GF2 AR TR AR 4% BE 2 I7CF
IRE € baqm o 7N 8 BIPl 2CE
T 2T (Sargfa o Al T ofeteTl vl
=)

(A) 4,500 Bl
(B) 5,000 Bl
(C) 5,100 Bl
(D) T°[Cad (T2

gis wfba Rfcta Som o 21 LA |
20 NS & T T CFazre Sroa

FACE?

(A) 462 35f (.1
(B) 450 3of G1.f4.
(C) 456 3o CL.N.
(D) T°[cad (FFD2

II1/22-A

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N

21

[ PTO



100. A field is

in the shape of a
parallelogram. Its two adjacent sides
and one diagonal are of length 65 m,
119 m and 156 m respectively. Then
its area will be

(A) 7150 m?
(B) 6150 m?
(C) 7140 m?

(D) None of the above

100. MNEHT SFhod @b TCIT

e 7
e GR G P o IAF 65 i,
119 . 43R 156 . =&, Tfoa cFawra
2@

(A) 7150 3f fa.
(B) 6150 3f fa.
(C) 7140 3sf fx.

(D) T°[Cad (FFID2

101. If 4G COICET TPICHT SAr® 2 @ 3 G<
101. If the ratio of radii of two cylinders O THOE TS 5 : 3 R, O O
is 2 : 3 and the ratio of their heights RSCTH SPITS 2
is 5:3, then the ratio of their
volumes is (A) 20:27
(A) 20:27
B) 21:25
B) 21:25
(C) 27:25
(C) 27 :25
D) TR (bR
(D) None of the above (D)
. 655 SRR
102. In AABC, external bisector of Z£A 102. ABC g A el qae
: - BC-93 WS | AW BC = 4 CLW. @33
is parallel to BC. If BC = 4 cm and ] e
AB = 3 cm, then the length of AC AB = 3 CLA. =, ©J AC-49 S5
will be
A) 5 LR
(A) S cm
(B) 4 ¢1f.
(B) 4 cm
(©) 3 cm (©) 3 @i
(D) None of the above (D) T (G T
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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103. The value of x from the given figure | 103. 2zwe 5@ x-97 T+ 2@
is
X
N N
X
X
_| 26°
_| 26°
(A) 40° (A) 40°
(B) 32° (B) 32°
(C) S0° (C) 50°
(D) None of the above (D) T#eaa (Ifo2 =
104. The perimeter of the APQR is 222 cm. | 104 POR 149C&s 222 G A
If /P =,0Q and PQ = 72 cm, then /P=/0Q 9R PQ = 72 CI.R. =0, v@
the length of the side PR is PR 3128 (7 23
(A) 65 cm (A) 65 C1.J.
(B) 70 cm (B) 70 (.M.
(C) 75 cm (C) 75 G1A.
(D) None of the above (D) Tocad (@bE
105. If a+b+c=0, then the value of 105. I a+b+c=0, O
1 s 1 . 1 1 . 1 . 1
b2+c2-a?® c2+a%-b? a?+bp%-c2 b2+c?-a® c?+a®>-b% a?+b%-c?
is G T 2J
(A) 3 (A) 3
(B) O (B) O
€)1 C) 1
(D) None of the above (D) THER (@02 T
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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106.

107.

108.

The next number of the sequence
1, 4, 14, 45, 139, ...... is

(A) 420
(B) 322
(C) 422

(D) None of the above

A data set of n observations has
mean 2x while another data set of 2n
observations has mean x. The mean
of the combined data set of 3n
observations will be equal to

) %

(B)

N W
bl

(€)

wIN
&I

(D) None of the above

If the ratio of mode and median is
7 : 4, then the ratio of mean and
mode is

(A) 7:11
B) 5: 14
(C) 2:3

(D) None of the above

106.

107.

108.

1, 4, 14, 45, 139, ... [
[RS! MRAMM 2F

(A) 420

(B) 322

(C) 422

(D) T°[Caa (FFI02

G3T6 AR n WG ARF AT 2% G

o GFTH IS0 2n AT R ST X
20e, 3n WAF ARE IS AMSCAR N
2@

(A)

wl s
=

(B)

N W
&I

©)

wIN
&I

(D) T73d @3 T

T FRAIGFA QR T TS 7 4
2, O T G- RGP FATS 2T
(A) 7:11

(B) 5:14

(C) 2:3

(D) T°[cad (FFD2

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N
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109. If x?>—-x+1=0, then the value of | 109. [ x2-x+1=0 =7, TR
x2+x®+x3+1is x?+xC+x3+1 -9q T 2@
(A) 1 A) 1
(B) -1 (B) -1
€) O (C) O
(D) None of the above (D) TAEF @Foe o
110. One of the factors of x? _52x+1 is 110. x?2 _52x+1 -7 G5 TS 25
(A) 2x-1 (A) 2x-1
B) 2x+1 (B) 2x+1
(C) 3x-1 (C) 3x-1
(D) None of the above (D) TAEF @b
111. If x:y=3:4, then 2x+3y):(3x+5y) | 111. M x:y=3:4 =, N6
equals 2x+3y):(Bx+ Sy) 2@
(A) 17:29 (A) 17 :29
(B) 29: 17 (B) 29: 17
(C) 18:29 (C) 18:29
(D) None of the above (D) TAEF @b |
112. If aZM, b:M, 112. I a= \/877-’-\/ﬁ,b=\/877_\m 2,
V92 — 22 V92 +422 V92 —+22 V92 ++/22
then the value of L + L is 1 L + L -9q |9 29
1+a? 1+b? 1+a? 1+b?
(A) 70 (A) 70
(B) O (B) O
€)1 C) 1
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / ¥ FICE&H &l SRall
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113. The total number of factors of the | 113. 100 R¥x (NG TLAMCH 3R 2
number 100 is
(A) 9
(A) 9
B) 10 (B) 10
©) 8 (C) 8
(D) None of the above (D) BofCR DR
114. In the given figure, a square with 114. = forg «@sf I IR0 X APP
length of each side x units inscribed TZR oAt @3 efcra wsfefie |
in a right-angled triangle. The area PfcFabe (FFe! (35 GKCF) 20T
. L0 .
of the square (in unit<) is %
(B) 40 (B) 40
(C) 100 (C) 100
(D) None of the above (D) TR FFve T
115. Which of the following is the field of | 115. g @B ST AT &FE 2
knowledge-based ability?
] (A) 1T B0
(A) To explain
(B) To memorise (B) et <ot
(C) To compare (C) el <l
(D) None of the above (D) T (@b T
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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116.

117.

118.

119.

120.

In which stage of psychomotor
domain work starts with trial and
error?

(A) Perception

(B) Mechanism

(C) Guided response
(D) None of the above

“Mathematics is the language in
which God has written the
universe.” It is quoted by

(A) Galileo

(B) Plato

(C) Einstein

(D) None of them

The Right to Education Act started

in the year

(A) 2005

(B) 2009

(C) 2012

(D) None of the above

Mathematics and language are

(A) highly correlated

(B) non-correlated

(C) of opposite nature

(D) None of the above

The appropriate method for the

establishment of the formulae in
mathematics is

(A) planning
(B) induction
(C) synthesis
(D) None of the above

116.

117.

118.

119.

120.

TEPPARTITE C(FCA (T B BB 8
EIcKIGIRI AR

(A) erore

(B) (M

(C) TrifEe afsfen

(D) T/ (@FFhe -/

‘““Mathematics is the language in

which God has the
universe.”’ TS0 T

(A) smferfere
(B) (alch
(C) =TPHIZ

(D) €T7E (FT3

e SifEr o2 oie] =W
(A) 2005

(B) 2009 s

(C) 2012

(D) TR @be T

QIECACATL)|

(8) 4R TS
(B) o2

(C) Reerest

(D) T°[cad (FFb2

STCS TR 2RI Sl IR @S 29
(A) R

(B) wcsrR

(C) e

(D) T°[Cad (T2

written

II1/22-A
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121. The digestion in human being starts | 121. IS b [F 2 [ ™ o 29
with (A) corfeeT
A) proteins T
:B)) Ic)arbohydrates ") il
©) fats (C) =5 (SR-wror Amy)
(D) fibres (D) R (%%)
122. Rhodopsin is related to vitamin 122. @cerE @ feoiem i ~efde o1
(A) A =
(B) B (A) A
() C (B) B
(D) D (C) C
(D) D
123. Which vector transmits the disease
filariasis? 123. (I 2T FIRCARAPP @19 TR 2
(A) Rat flea (A) =15 B
(B) Anopheles (B) SHICIRERmT
(C) Culex (©) frsem
(D) Aedes (D) &
124. Which blood vessel carries
oxygenated blood? 124. & TS Wﬁﬂc@?dﬂ@ & 92 (9?7
(A) Pulmonary artery (A) RGN &=t
(B) Hepatic vein (B) @bz M=
(C) Superior vena cava (©) )If\ofﬁz[q o] (O]
(D) None of the above (D) TR @FFve T
125. E)efense function of the blood is due 125. wces o orred olfeass A e
(A) erythrocyte (A) affearizs
(B) thrombocyte (B) ICIMIED
(C) lymphocyte (C) fercwriizs
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / qIF IC&d &) Al
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126. Pyramidal concept used in ecology | 126. Iy I7Z® FRINT GO 2T 2T
was developed by (A) @O
(A) Odum (B) 3
(B) Transley
C) @&
(C) Elton © .
D) G (T2
(D) None of them (D) e
127. Living factor in an ecosystem is 127. BT S A
known as (A) SR
(A) organic (B) ZFTeROm®
(B) inorganic (C) ZFET
(C) ecofactor (D) qcse
(D) biotic
128. (AIfF5iEe ey w7 w1 21
128. Pesticide can kill A) ¢
(A) insects . '
B 3@@
(B) rats (B)
(C) Both (A) and (B) © (4) 4 (B) TozR
(D) None of the above (D) TR (PR
129. Which of the following is not a | 129 afe ]\'J@%R[ T (D SACHICTIRCT
pollutant from exhaust of auto- fisf camm (AT 2l w3 w2
(A) Hydrocarbon (B) SR TTHZT
B) Carbon monoxide BERLE
(C) Phosphorus trioxide - < -
(D) wBCRICE SR
(D) Nitrogen oxide
130. (FICAT (FICAT e ARIITE TR
130. Increased asthmatic attack in RGP AT PR
. . A
certain season is related to
(A) eating seasonal vegetables (8) et e
(B) fluctuation of temperature (B) SISl
(C) inhalation of seasonal pollens (C) WY “[RIOICH MR A 22 el
(D) None of the above (D) T (b2 T
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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131. The time taken for an iron ball to | 131. <0 (2R IEE GFL LISTEE T2H
drop from the top of a tower to the (A m ALCS A oTCl 4 QOICFS |
ground is 4 seconds. The height of DI THo| F© 2
the tower is A 39.0 fi
(A) 392 m (&) '

(B) 156:8 m (B) 1568 fil.
(C) 588 m (C) 588 .
(D) 784 m (D) 784 .

132. A five-tonne truck and a two-quintal .
car are moving with an equal 132. «3f6 -5 e R 936 -T2
velocity. After applying the brake, QIN IS iﬁ 2 | @ (TSR A (T
what will happen? qBeIID ¥BCH ?

(A) The truck will stop covering (A) =B @ GaK] SfoFs T¢7 ANE
more distance <

(B) The car will stop covering more (B) °m TG ST e
distance (C) 7ib2 g Sfews Fea M

(@] ?-Oih will stop covering same (D) o5l Y ST T AME O %7

istance . T o

(D) Distance covered before stop

depends upon the driver 133. 3B ©IEE OFNEl 20 K. FEeI2Rh
133. The temperature of a liquid is 20 K. (B ORI O1eHIal S 73 ?

What will be its temperature in (A) - 4554 °F

Fahrenheit scale?

(A) - 4554 °F (B) - 4234 °F

(B) —4234 °F (C) 2004 °F

(C) 2004 °F (D) — 44 °F

(D) —44 °F

134. The instrument used to produce 134. “RrwemE @@ g e s (o
sound of a fixed frequency in the FAR G (T TG0 A2 FA 2 2
laboratory is (A) T CAGAN
(A) simple pendulum

) (B) eI A
(B) sonic measure
(C) tuning fork (C) foofr =
(D) toner (D) G
SPACE FOR ROUGH WORK / qIF IC&d &) Al
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135.

136.

137.

138.

When the surface area of the
vibrating body increases, the
intensity of the sound produced

(A) decreases
(B) increases
(C) remains same

(D) Cannot be determined

An electromagnet is

(A) a temporary magnet
(B) a permanent magnet
(C) not a strong magnet

(D) neither temporary
permanent magnet

nor

Corkscrew rule for the direction of
magnetic field in relation to the
direction of current conducted by
the conductor is given by

(A) Ampere

(B) Orsted

(C) Max Planck
(D) None of them

As an object gets closer to the focal
point of a converging lens from
infinity, its image

135.

136.

137.

138.

Y] (PG FT@ TE “[9we]  TCICe]
2, 94 TR *(TE OFl

(A)

(B) AICY

(C) 42 AT

(D) feyefy == Ry =11

BCETCGTIIONCAD

(A) @I =[5

(B) @3> 2/ 75

(C) @b *feel o

(D) == A 2R/ 75 W

e “fRAfRce oftr “feer ficea e

Graeeses wfeyy fefre a6g  fom
o e

(A) SpIfoRTE

(B) €ACHT

(C) T 2

(D) €& (FT3

T (I TR SN TR (A WA

CIR (TR e S 2/, 949 OF
AfeRg

(A) becomes smaller (A) =l 2o AT
(B) remains same size

(B) 933 ¥ AT
(C) gets farther from the lens

. . (C) (o™ (TP VLA TS IR
(D) gets closer to the optical point of
the lens (D) G SCHAPRYE e SelTe =
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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139. A point object is placed at a distance | 139. 30 .. =™ e a3 Tee
of 30 cm from a convex mirror of vofeed 30 1., e @i ﬁﬁ_q-@ !
focal length 30 cm. The image will (e AfORT SE 2@
form at
A) AN i
(A) infinity ) #
(B) pole (B) GIFRrgee
(C) 15 cm behind the mirror (C) wofed 15 e, foree
(D) 15 cm in front of the mirror (D) w15 G1.R. e
140. Two non-spherical natural satellites | 140. (o T @57 75 2FeT Tolzz 7o
are
(A) TP @G3R e
(A) Phobos and Miranda
B) (FICAM @G3R Q20
(B) Phobos and Triton (B) A
(C) Deimos and Miranda (C) TecTt @ fisre
(D) Deimos and Phobos (D) o1 ¢ CFICT
141. Pluto is known as dwarf planet | 141. ZCOCF A A2 &7 27 FEg
because
(A) «fbq =7 Toren
(A) it has negligible mass
B) «fb SR R CANeTRI =17
(B) it has not nearly round shaped (B)
(C) it does not have always same (C) «fbw e oz LS
neighbouring planet (D) SR SRl
(D) All of the above
142. 90 SCe (TR T —OH 27 Toifzre
142. Presence of —OH group in an G RSIRITE I
inorganic compound may lead to
(A) alkali (A) =PI
(B) base (B) I
(C) acid (C) =&
(D) All of the above (D) TR FRI(0
SPACE FOR ROUGH WORK / qIF IC&d &elj el
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143. Which statement is not true?

(A) In presences of oxygen, heating
zinc oxide when yellow color is
found, it is a physical change

(B) Swallowing a small glass ball is

a chemical change

(C) Digesting pure sugar crystal is

a chemical change

(D) In presence of air, heating
mercury when red color
found, it is a chemical change

144. Which of the following metals is

highly reactive?
(A) Hg
(B) Fe
(C) Cr
(D) Ca

145. Two elements of high conductivity of

electricity are
(A) Cu and S
(B) Al and F
(C) As and C
(D) Au and C

146. Pedagogy is related to
(A) teaching to elderly person

(B) teaching to small children as

well as others
(C) teaching to teachers only

(D) None of the above

143.

144,

145.

146.

@ TST6 AT 7 2

(A) T SEIRUE SR SoFfoce
T I TN R 2SN (ST AT

(B) (=T @D FICHF F#ICF SNLFe
G0 AP I

(C) fwm B @S ~ifve Fa1 @b
AT AR

(D) IR TelfEfece e Ted Feq ol
R 2E APTR 2IRTew

ki qoskm T @EL  Tom
e 2

(A) Hg
(B) Fe
(C) Cr

(D) Ca

75 T e “IfarRl (et 2=
(A) CudRS
(B) Al €% F
(C) As & C

(D) Au €3 C

Pedagogy ﬂ“ﬂﬁ%ﬂ@

(A) T TSR PR

(B) (=6 PRYTwE @R Senon PEReem e
(C) (N PrFerE WEwceR e

(D) T°[cad (FFD2

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N
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147.

148.

149.

150.

Understanding science depends

upon

(A) ability of  experimentation,
observation and making
inference

(B) the class in which the student
studies

(C) educational qualification of the
teacher

(D) All of the above

Problem-solving skill is related to

(A) analytical power of brain
(B) memory power

(C) knowledge base

(D) None of the above

Continuous and
evaluation refers to

comprehensive

(A) daily evaluation of students’
development

(B) a system of regular evaluation of
students that covers all aspects
of students’ development

(C) regular evaluation of all
students in a class

(D) All of the above

The aim of CCE type of evaluation is

to

(A) help to memorize more study
materials easily

(B) help to memorize more study
materials quickly

(C) help to
memorize

(D) None of the above

develop skills to

147.

148.

149.

150.

%@IC?RI. SIERRINI ﬁ"?{e. P

(A) P, RfTwT 8 Pram 2290 F91
A TR

(B) =@ (I ACT “1Tce ©F TR
(C) PrFa PEFeTS @ereE Tk
(D) TR SO

S-S TSl (FI06d I T FS 2
(A) REega Resaa e
(B) =fefe

(C) wI-fefe
(D) TR (T2

YIRS GR IR T TS R

(A) ZAFAITH TRCTE AT EF JoRe

(B) Tamac@ RS TEEeew @3

(C) A Fe1 RaR@Icrs AR e
(D) Tocaa 0

CCE 4<¢-9 PRURIGE ™) 297
(A) ST 210 2e® JIT FACS 2R F

(B) ©ffF 715 SUreit 4% FACe 2R
341

(C) J¥Z FqH TFOP Tae FACO AR
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Candidates have to answer Question Nos. 91
to 150 either from Part—IV (Mathematics
and Science) or from Part—V (Social
Studies).

AAFIACTE 2 =4 91 (AcF 150 TEg FCe 2@
¥ oIV (offe @R [Em) @ F91 Sn—V
(SR (A |

PART—V [/ w9—V
SOCIAL STUDIES / &<

Directions : Answer the following questions
by selecting the correct option.

91. The Indus Valley Civilization is
also known as Harappan Culture
because

(A) Harappa was the first site
discovered in the Indus Valley
Civilization

(B) Harappa was the capital city of
the Indus Valley Civilization

(C) most of the important evidence
of the Indus Valley Civilization
have been discovered from the
Harappa

(D) None of the above

92. In which Veda, the inhabitant of
Aryans is called as Aryavarta?

(A) Yajur Veda

(B) Rig Veda

(C) Sama Veda

(D) None of the above

93. Which among the following is not a
part of the ‘Chaturashram™

(A) Garhastha

(B) Sanyasa

(C) Nirbana

(D) None of the above

94. Digambaras were the followers of
(A) Bhadrabahu
(B) Sthulabhadra
(C) Parsvanath
(D) None of them

it : S0F Teg v wc o epsfer
Teq e |

91. P Terel WAl PR e HARDY
PR

(A) P STorel 2 wWEAR WP
ReIE]

(B) 281 feel Prep sTeror s

(C) P sToem @l @wgr 2z
ZIHR S ZeafeeT

(D) T°ICad (FMDe 7
92, (FF @ TR IPTENCP SHTE el
=77
(A) T
(B) =alcw
(C) W
(D) T°[cad (T2

93. ffCoq (T ‘DPARN’ -G TR T ?
(A) oT2Z
(B) Tt
(C) ferfret
(D) T°[cad (T2

94, frorgar fecem
(A) ST Sai
(B) ZeTeCud SRS
(C) ~rfarceR Sl
(D) GME (FT2 o
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95. Which of the following indicates 95. feea C?Flﬂﬁ';%‘% T A ?
Bhikku?

(A) Com SlefEg
(A) Jain Tirthankara
(B) Hindu Monk (B) %W
(C) Buddhist Saint (©) = Tt
(D) None of the above (D) THEE @FhE o

96. Among the 16th Mahajanapadas, 96. @U* WEETmslR W& Wew @

which one was situated on the bank W *g S w9Fe 2
of river Godavari?

(A) Anga (A) =

(B) Avanti (B) =@

(C) Asmak (C) ===

(D) None of the above (D) T[F7 (@02 |

97. Which one of the following does not 97. Ty % o T TS 7 0
belong to the Pallava style of

architecture? (A) Wz Sife

(A) Mahendra style (B) e e
(B) Mamalla style (C) Frears e
(C) Rajraj style
(D) Toica @rie

(D) None of the above

98. Which Sultan was prohibited the | 98 (I oM fice TAm e fifE =

drinking and selling of wine in A ?

i?
Delhi? )
(A) Ala-ud-din

(B) <1

(B) Balban
(C) Jalal-ud-din (C) RT=IC e
(D) None of them (D) 4d (FT3 <

99. In the Battle of Haldighat, [ 99. R Al 27l WM 0w I
Rana Pratap of Mewar was defeated SEMRCET
by

A) SRS YICTE 1l
(A) Bhagawan Das A

(B) Man Singh
(C) Ratan Singh (C) Foo PRCEd =Ml
(D) None of them (D) €Td (FT3

(B) W+ Piced w
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100.

101.

102.

103.

104.

105.

II1/22-A

The Peacock (Mayur) Throne was
constructed during the reign of

(A) Jahangir

(B) Shah Jahan

(C) Darasiko

(D) None of the above

When did the Munda Revolt start?
(A) 1855-1856

(B) 1887-1888

(C) 1899-1900

(D) None of the above

Which phase of Indian National
Congress followed the policy of
‘political mendicancy’™?

(A) 1st phase, 1885-1905
(B) 2nd phase, 1902-1906
(C) 3rd phase, 1914-1922
(D) None of the above

In Chauri-Chaura incident, how
many police person were killed by
the mob?

(A) 19
B) 22
(C) 27
(D) None of the above

After leaving India, where did
Subhash Chandra Bose reach first?

(A) Japan

(B) Germany

(C) Russia

(D) None of the above

Jamai Khata’ practice is related
to the

(A) Hiknanani marriage ritual
(B) Kaijagnani marriage ritual
(C) Tuimaknani marriage ritual
(D) None of the above
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102.
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104.

105.

TR PP Codl et
(A) SRHICH AETGPICE
(B) >TSS AT qPICeT
(C) WIS ArergpICaT
(D) TR @2 T

T4 o1 feuR we 2cafee 2
(A) 1855-1856

(B) 1887-1888

(C) 1899-1900

(D) TR (@DR T

ORI SIOR FLACH (T 7K Areares

fewpighe’ TS SRpiael eafe 2
(A) 229 7, 1885-1905
(B) fael¥ #€, 1902-1906
(C) TOR #K, 1914-1922
(D) TR @2

ORI Tom Poee o[fop] Sl @]
2o 2cafe 2

(A) 19

(B) 22

(C) 27

(D) TR (@DR

SRC W 7K ST 97 (FINA AN
CPTICRRCE 2

(A) I

(B) @

(C) =R

(D) Tocad @Mbe

‘Gz 4o [ TR

(A) TeamTal K 2@ e

(B) FlemeoEe A= 22 A
(C) T {12 22 A
(D) TR (@DR
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106. The planet Mercury is moving round | 106. 3¥ 21'2]% ﬂ_ﬂ@? 2w T
the Sun by

(A) 365 e
(A) 365 days
(B) 165 fuca
(B) 165 days
(C) 88 fca
(C) 88 days
(D) T°[Cad (T2

(D) None of the above
107. R TR &9 91 =
(A) wIfsICEL= ==l

(B) S5CIIE @l

107. The local time is determined by
(A) longitude

(B) central meridian
(C) =S =l

(D) TR (@DR

(C) parallels of latitude

(D) None of the above

108. T TR AN o1 R
108. The mantle crust boundary is called B =

(A) Mohorovicic discontinuity (A) A ﬁ{%

(B) Gutenberg discontinuity (B) @Ws{ﬁ@\@

(C) Core (C) FTNEs

(D) None of the above (D) ¥ (bR
109. The unstratified rock is 109. wrEIy® BT 2

(A) igneous rock (A) SCaR T

(B) sedimentary rock (B) 2A1eTfors o]

(C) metamorphic rock (C) =i et

(D) None of the above (D) THEE @FhE o
110. Canyons are formed in 110. Ffere afds 27

(A) temperate region (A) TSTCSrRe e

(B) desert region (B) =P ST

(C) tundra region (C) Ul e

(D) None of the above (D) T7aR @Fbe T
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111.

112.

113.

114.

115.

II1/22-A

Pediment is formed

(A) at the mouth of river

(B) in the middle course of river
(C) at the mountain valley

(D) None of the above

The variation of temperature is
controlled by

(A) latitude
(B) altitude
(C) ocean currents

(D) All of the above

High tide and low tide are mainly
caused by

(A) rotation of the Earth
(B) attraction of the Sun
(C) attraction of the Moon

(D) All of the above

Suez Canal is connected with

(A) the Mediterranean Sea and the
Red Sea

(B) the Caspian Sea and the Aral
Sea

(C) the Red Sea and the Nile River
(D) None of the above
Meenambakkam Airport is located
in

(A) Mangalore

(B) Trivandrum

(C) Chennai

(D) None of the above
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115.

ARSI ol =3

(A) = R

(B) R Nz

(C) “Ie; TP
(D) TR (@DR

SR el fafEe =3
(A) ST FEI
(B) Twel =l

(C) ECHS ARl
(D) Tofcaa TP0

(SRR 932 SO 24 FE 291
(A) AT S IS

(B) e el

(C) BCHA =

(D) TR S0

S 4 TS FEACR

(A) TRLPTR G (MRS TS
(B) IR AR @I A AT
(C) (eNfe® o @R Tl T7CF

(D) Tocad (@D T

[RRIEEER RS RIS RGIEACEIES
(A) TIHICICH

(B) feraes

(C) cpaiECe

(D) TR (@DR
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116. The world’s largest river island | 116. {239 32 WP= A7 WEgal S_ES

‘Majuli’ is located in

(4) Prg fce
(A) the Indus River
(B) o wwice
(B) the Ganges River
(C) F=[@ ice
(C) the Brahmaputra River
(D) T°[Caa (T2

(D) None of the above

117. SRR Has-Seo s S2eels 26

117. The manganese-producing area in

Odisha is (A) TRt
(A) Bellary (B) @R
(B) Koraput (C) 4=
(C) Dhanbad (D) Tocad @be o
(D) None of the above
118. (% 29 <3
118. Dengue is a/an (A) o Ry
(A) biological disaster (B) W@?Cﬁz[ oy
(B) atmospheric disaster (©) i Rt
(C) terrestrial disaster (D) TR R

(D) None of the above

119. “RA @ e 28 GT T
119. Which country is the largest Teoffre =7 9

producer of crude steel in the world?

(A) Japan (A) =T

(B) China (B) B

(C) UsA (C) WF To=1g

(D) None of the above (D) TR @FEve T

120. TBIE 9 TeoqIwe 77

120. Spring wheat is grown in

(A) tropical region (A) TR T

(B) tundra region (B) wul oyece]

(C) temperate region (C) RSACSIe e
(D) All of the above (D) TR RO
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121. What is the date of the International
Women’s Day?
(A) 21 June
(B) S May
(C) 8 March
(D) None of the above
122. The law against child labour was
implemented in the year
(A) 2006
(B) 2005
(C) 2003
(D) None of the above
123. A Lok Adalat is generally presided
over by
(A) a judge of the High Court
(B) a retired judge
(C) a judge of the District Court
(D) None of the above
124. What is the full form of UNICEF?
(A) United Nations Children’s Fund
(B) United Nations Information,
Culture and Educational Forum
(C) United Nations Cultural and
Educational Fund
(D) None of the above
125. The Right to Education (RTE) Act,
2009 is known as
(A) the Right of Children to
Compulsory Education Act,
2009
(B) the Right to Free and
Compulsory Education Act,
2009
(C) the Right of Children to Free
and Compulsory Education Act,
2009
(D) None of the above
II1/22-A
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121.

122.

123.

124.

125.

IEEtes qA T (@ O wAlfere
239

(A) 21 %

B) 5

(C) 86

(D) To[Caa (FFb2 -/

Py oo [Kecm iz SRGA TR
SAICET 2

(A) 2006
(B) 2005
(C) 2003
(D) TofCaa (@02 7/

T SIS TS TO#10q FCIT
(A) TH MRS G [piEeIfe
(B) G SRS [oEefe

(C) (eIl SMIeTcen G [5R#MS
(D) To[ad (T2 |

UNICEF-93 =5 4G 5 2
(A) United Nations Children’s Fund

(B) United Nations Information,
Culture and Educational Forum

(C) United Nations Cultural and
Educational Fund

(D) Toicaa (FFbe -7

rFE SR (RTE) %, 2009 53
I TICH #(fRe 2

(A) The Right of Children to
Compulsory Education Act,
2009

(B) The Right to Free and
Compulsory Education Act,
2009

(C) The Right of Children to Free
and Compulsory Education Act,
2009

(D) ToER (@bR T
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126.

127.

128.

129.

130.

II1/22-A

The Right to Education (RTE) Act,
2009 describes the modalities of the
importance of education for children
between the age of

(A) 4 years to 14 years
(B) 6 years to 14 years
(C) 6 years to 16 years
(D) 6 years to 18 years

What is the full form of NCTE?

(A) National
Education

Council of Teacher

(B) National Commission of Teacher
Education

(C) National Council
and Education

of Training

(D) National Council for Teacher
Education

TTAADC is a/an

(A) Autonomous Area Council
(B) Dependent District Council
(C) Autonomous District Council

(D) Tribal Area Council

Which of the following organizations
of United Nations (UN) related with
education?

(A) UNICEF
(B) UNESCO
(C) UNO
(D) UNSC

Right to property is now
(A) fundamental right
(B) legal right

(C) economic right

(D) None of the above
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126.

127.

128.

129.

130.

e SfEslE (RTE) (2w, 2009 (I
TP B P el el W

I “RACETB @ Mol TR 2
(A) 4 q=F (AF 14 =7
(B) 6 = (AT 14 I=A
(C) 6 9= (AT 16 T2
(D) 6 q=F (AT 18 I=F

NCTE-«3 3¢ eif6 5 2

(A) National
Education

Council of Teacher

(B) National Commission of Teacher
Education

(C) National Council of Training
and Education

(D) National Council for Teacher
Education

TTAADC % <3

(A) Autonomous Area Council

(B) Dependent District Council

(C) Autonomous District Council

(D) Tribal Area Council

aIfere wifeoce (UN) (i FRo10e P

G e e 2

(A) UNICEF

(B) UNESCO

(C) UNO

(D) UNSC

JEAC Tfeq SR 2
(A) CTifere SR

(B) SIi2eore WiEFTE

(C) T=lcTies SAfEFE

(D) TR @2



131.

132.

133.

134.

135.

II1/22-A

Who can dissolve the Rajya Sabha?
(A) President

(B) Prime Minister

(C) Speaker

(D) None of them

Who appoints the Council of

Ministers of a State?
(A) President

(B) Chief Minister
(C) Governor

(D) None of them

Who is the Chief Executive Head of
a State?

(A) Chief Minister

(B) Governor

(C) Speaker of the Bidhan Sabha
(D) None of them

The Prime Minister of India is the
Chairman of

(A) NITI Aayog
(B) Finance Commission
(C) Minorities Commission

(D) None of the above

When the Tripura Panchayat Act,
1993 came into effect?

(A) 1996
(B) 1994
(C) 1995

(D) None of the above
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135.

F qrEPTel (o TMCS #Ieae ?
() =gefe

(B) ey

(C) =&

(D) 4T (FT3 T

e AZPTSR AW (3 T Icol T 2
() =gefe

(B) J=&

(C) eI

(D) GT7E (FT2 T

A 2 2P 2K (P 2

(&) ToT@

(B) ArSHITE

(C) RarPTorR SiKrF

(D) €U (FTB 7T

SRCSH AYFINE AR T SO
PCJ

(A) S =CaCsR

(B) el SRR

(C) FRYIIETY PlRCT

(D) TR (DR T

Q7@ 7 Wiz, 1993 T PR
277

(A) 1996

(B) 1994

(C) 1995

(D) TR (@DR
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136.

137.

138.

139.

140.

II1/22-A

What is the most important for a
teacher?

(A) To maintain strict discipline in
class

(B) To be punctual in class

(C) To remove difficulties of the
students

(D) To be a good orator

When the students become failed, it
can be understood that

(A) the system has failed
(B) the teacher’s personal failure
(C) the textbook’s failure

(D) the individual student’s failure

The success of a teacher is
(A) high achievement of students

(B) good traits of his/her person-
ality

(C) his/her regular teaching
(D) his/her good character

Women are better teachers at

primary level because

(A) they behave more patiently with
children

(B) they are ready to work with low
salary

(C) higher qualification is
needed in this profession

not

(D) they have less chances in other
profession

A student comes late in your class.
Then you will

(A) punish him/her
(B) try to know the reason
(C) inform to his/her parents

(D) not pay attention there

a4
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(A) CARPCE B RSS! e 1
(B) AT D 283

(C) =@=IAIC SpjfHHiesfe 7g 1

(D) ®iceT <T@z

TR QN] TP 3¢ OIF (AP @RI I/
(A) T9ER Tl

(B) Prrcee Sfeere qfel

(C) ~F*[BEEa el
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G| TRRE ey 2e
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(A) ORI IWICE CH @A ORI
I FACS 2N

(B) OHI I RHNES Fe Face Al
2T

(C) @3 (*PTRT TH (ISTOR 2T (73
(D) IR SR (7R AR 9 T
(TN TS (P Ta=a (TS 9
o

(A) I R T3

(B) JF° GO (B2 FICQ
(C) O IFI-CF ST
(D) CIeP & e =l



141.

142,

143.

144.

145.

II1/22-A

Why students should play games in
school?

(A) It makes them physically strong

(B) It makes
teachers

works easier for

(C) It helps passing time

(D) It develops cooperation and
physical balance of the students

Effective teaching is a function of

(A) strict classroom discipline

(B) students’ self-learning

(C) clear and precise communi-
cation

(D) regular teaching

Family is a means of

(A) formal education

(B) informal education
(C) non-formal education

(D) distance education

Teaching will be effective if the

teacher

(A) has much experience in delivery
of lecture

(B) is master of the subject
(C) is authoritative

(D) starts from preliminary ideas

Which one is true about project?
(A) It is a purposeful activity

(B) It is proceeded
environment

in natural

(C) It is accomplished in rural life

(D) It is a teacher-centric activity

45

141.

142.

143.

144.

145.
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(A) «re oFl *ARFeE *fenen 27

(B) gre Rrsmcr Fee Rl 23

(C) «fb I FIOICS T2RT I

(D) ¥3 (e PreRicm RSl 8
R SRPI I Y

JREA PEFCTR 9o IS 29

(A) CiAes o RSl

(B) TR F-THI2e

(C) Rete 8 YR

(communication)

(D) frafire el

ST - 2wl

GIERIGIET
(A) ==nere BRrF @i i
(B) zidfzge fErE «3fh M

(C) 293 (non-formal) reE &b
RIEin

(D) TERFFR G5 T
farsper Al 28 I Porws

(A) IGOMIC HTGEOPTH 271
(B) R “[owIces [ e 2
(C) wEe7ef 2=

(D) 21 SRTE BF (ACF AV W
I

TS F=UCE (I 7 2
(A) @b @3 Srae)e Aol

(B) 46 Apfed IR @i e
RICRIES

(C) «fb e S Fffre 27
(D) «ft @36 - FETT AlGTel
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146.

147.

148.

149.

150.

II1/22-A

Peer culture contributes in
(A) socialization

(B) individualization

(C) Both (A) and (B)

(D) None of the above

What is the most important while
writing on blackboard?

(A) Good hand-writing

(B) Clarity in writing

(C) Writing in big letters

(D) Maintaining straight line

To maintain interest among the
students in class, a teacher should
(A) use teaching aids

(B) read out the text

(C) ask questions

(D) deliver continuous lecture

The basic aim of a teacher is

(A) to help students to get through
the exams

(B) to make students disciplined

abilities of

(C) to develop the

students

(D) None of the above

Students are passive in
(A) project method

(B) discovery method
(C) inquiry method

(D) lecture method
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1.

10.

11.

12.

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

frarferRe fFieven siceT e =g -

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2/fsfl 2iesrm Te f2oiica 1 viafl s creal wiice o (A0 weIa 8 Teafbe CAfFce OMR Te97ita (el Jfb IceTl 1D T
B ST efCe I Fed DS F900 20q | 9K Ted e 91 207 (9lee ©Iee W RS 91 A1 Al

The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks on the
OMR Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer
Sheet.

“REFIE (PICTeIcT® OMR Texo[@ib w1 ¢ <1l | OMR TE71cq (PICAR w15l BT 1 @y (o1 A 1 | 2P @
(e 759 OMR T&gicq {8 1 Sziell Il STy (PICl SRS for<ea =1 |

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TER71q 3R 2P7ICa AR2ICH IS TSF! ST FCS 3C4 | (I HAZICS2 (Y09 Fib ' 17997 &b 2[w) OMR Teq71d
S ZP(q ARTE T A

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

RIS BT Mo-9 S OMR TELICAR 79 G- 270 754 frgereicq foree 2c |

The candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.
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No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat in the Examination Hall/Room.
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The candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first
after taking their seats in the Examination Hall/Room and second at the time of handing over their OMR
Answer Sheet to the Invigilator.
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the OMR Answer Sheet
and dealt with as an unfair means case.
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Use of any type of calculating device is strictly prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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